
CHEMISTRY

BOOKS - RESONANCE HINDI

ORGANIC/INORGANIC CHEMISTRY

DPP 40

बहुविकल्पीय प्रश्न

1. उत्पाद है :CH3 − CH2 − CHCl2

NaNH2

−−−−→
Δ

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_tUWPa3Eibl0K


A. 

B. 

C. 

D. 

Answer: B

वीडियो उत्तर देखें

CH3 − C ≡ C − CH3

CH3 − CH2 − C ≡ CH

CH2 = CH − CH = CH2

CH3 − CH2 − CH = CH2

2. उत्पाद है :

A. 

Ph − CCl2 − CH3

NaNH2

−−−−→
Δ

Ph − C ≡ CH

https://dl.doubtnut.com/l/_tUWPa3Eibl0K
https://dl.doubtnut.com/l/_QeYiF4A118Uo


B. 

C. 

D. 

Answer: A

वीडियो उत्तर देखें

CH2 − C ≡ CH

Ph − CH = CH2

Ph − CH − CHCl

3.  मुख्य उत्पाद

है :

A. 

CH3 − CHCl − CH2Cl
NaNH2

−−−−→
Δ

CH2 = C = CH2

https://dl.doubtnut.com/l/_QeYiF4A118Uo
https://dl.doubtnut.com/l/_Ph5lHzxM45Hi


B. 

C. 

D. 

Answer: D

वीडियो उत्तर देखें

CH3 − C = CH2

CH3 − CH = CCl2

CH3 − C = CH

4.  उत्पाद है :

A. 

B. 

CH3 − CBr2 − CHBr2

Zn
−−→

Δ

CH2 = C = CH2

CH3 − CH = CH2

https://dl.doubtnut.com/l/_Ph5lHzxM45Hi
https://dl.doubtnut.com/l/_9lDvo4oX13tb


C. 

D. 

Answer: C

वीडियो उत्तर देखें

CH3 − C = CH

CH3 − CBr = CBr2

5.  उत्पाद है :

A. 

B. 

Ph −

Br

∣

C
∣

Br

−

Br

∣

C
∣

Br

− CH3

Zn
−−→

Δ

Ph − C ≡ C − CH3

Ph − CH2 − C = CH

https://dl.doubtnut.com/l/_9lDvo4oX13tb
https://dl.doubtnut.com/l/_Yzygy1mK7mn7


C. 

D. 

Answer: A

वीडियो उत्तर देखें

Ph − C = C = CH2

Ph − CBr2 − C = CH

6. 

उत्पाद है :

A. 

B. 

KOOC − C
∣

P h

= C
∣

P h

− COOK
विघुत अपघटन 
−−−−−→

Ph − C ≡ C − CH3

Ph − CH = CH − Ph

https://dl.doubtnut.com/l/_Yzygy1mK7mn7
https://dl.doubtnut.com/l/_Do4GF736gmt9


C. 

D. 

Answer: C

वीडियो उत्तर देखें

Ph − C ≡ C − Ph

Ph − CH2 − CH2 − Ph

7. 

उत्पाद है :

A. 

B. 

KOOC − C
∣

H

= C
∣

CH3

− COOK
विघुत अपघटन 
−−−−−→

CH ≡ CH

CH3 − CH = CH2

https://dl.doubtnut.com/l/_Do4GF736gmt9
https://dl.doubtnut.com/l/_lgQXc4Ha7Fel


C. 

D. 

Answer: D

वीडियो उत्तर देखें

CH3 − CH2 − CH3

CH3 − C ≡ CH

8. किस कार्बाईड के  जल अपघटन से प्रोपाईन प्राप्त होगी।

A. 

B. 

C. 

Al4C3

CaC2

Fe3C

https://dl.doubtnut.com/l/_lgQXc4Ha7Fel
https://dl.doubtnut.com/l/_Hh7gxEU7lwLc


D. 

Answer: D

वीडियो उत्तर देखें

Mg2C3

9.  उत्पाद है :

A. 

B. 

C. 

CH3 − C = CH + Br2

CCl4

−−→

CH2 − CH2 − CH2
∣

Br

CH3 − CH
∣

Br

− CH3

CH3 − CH
∣

Br

− CH2
∣

Br

https://dl.doubtnut.com/l/_Hh7gxEU7lwLc
https://dl.doubtnut.com/l/_0VBiTPjwEpRb


D. 

Answer: D

वीडियो उत्तर देखें

CH3 − CBr2 − CHBr2

10. 

उत्पाद है :

A. 

B. 

CH3 − C ≡ C − CH2 − CH3 + Cl2

CCl4

−−→

CH3 − CH
∣

Cl

− CH2 − CH2 − CH3

CH3 − CH2 − CH
∣

Cl

− CH2 − CH3

https://dl.doubtnut.com/l/_0VBiTPjwEpRb
https://dl.doubtnut.com/l/_8Rg8oDFrLmmA


C. 

D. 

Answer: D

वीडियो उत्तर देखें

CH3 − CH
∣

Cl

− CH
∣

Cl

− CH2 − CH3

CH3 − CH2 − CCl2 − CCl2 − CH3

11. 

उत्पाद है :

A. 

B. 

CH3 − C ≡ C − CH3 + Cl(1. eq. )
CCl4

−−→

CH3 − CH
∣

Cl

− CH2 − CH3

https://dl.doubtnut.com/l/_8Rg8oDFrLmmA
https://dl.doubtnut.com/l/_AfAXi7PEOMWL


C. 

D. 

Answer: B

उत्तर देखें

CH3 − CH
∣

Cl

− CH
∣

Cl

− CH3

12.  उत्पाद है :

A. 

B. 

Ph − C ≡ CH + HBr →

Ph − CH
∣

Br

− CH2
∣

Br

Ph − CH = CH
∣

Br

https://dl.doubtnut.com/l/_AfAXi7PEOMWL
https://dl.doubtnut.com/l/_CEPNr8UGKEoF


C. 

D. 

Answer: C

वीडियो उत्तर देखें

Ph − CBr2 − CH3

Ph − CH2 − CHBr2

13.  उत्पाद है :

A. 

B. 

Ph − C ≡ CH + HBr
Peroxide
−−−−→

Ph − CH
∣

Br

− CH2
∣

Br

Ph − CH = CH
∣

Br

https://dl.doubtnut.com/l/_CEPNr8UGKEoF
https://dl.doubtnut.com/l/_KixVKhuUjjMQ


C. 

D. 

Answer: D

वीडियो उत्तर देखें

Ph − CBr2 − CH3

Ph − CH2 − CHBr2

14.  उत्पाद है

:

A. 

CH3 − C ≡ C − CH3 + HBr →

CH3 −

Br

∣

C
∣

Br

− CH2 − CH3

https://dl.doubtnut.com/l/_KixVKhuUjjMQ
https://dl.doubtnut.com/l/_XCm3QCT6pell


B. 

C. 

D. 

Answer: A

वीडियो उत्तर देखें

CH3 − CH
∣

Br

− CH
∣

Br

− CH3

CH3 − CH
∣

Br

− CH2 − CH2
∣

Br

CH2
∣

Br

− CH
∣

Br

− CH2 − CH3

15.  मुख्य उत्पाद है :

A. 

CH3 − C ≡ CH
HgSO4 ,H2SO4

−−−−−−−−→

CH3 − CH
∣

OH

− CH3

https://dl.doubtnut.com/l/_XCm3QCT6pell
https://dl.doubtnut.com/l/_qqBIttO9fUst


B. 

C. 

D. 

Answer: C

वीडियो उत्तर देखें

CH3 − CH2 − CHO

CH3 − C
∣ ∣

O

− CH3

CH3 − CH2 − CH2
∣

OH

16. 

मुख्य उत्पाद है :

Ph − C ≡ C − CH3 + H2O
HgSO4 ,H2SO4

−−−−−−−−→

https://dl.doubtnut.com/l/_qqBIttO9fUst
https://dl.doubtnut.com/l/_NC42VLWtRVsA


A. 

B. 

C. 

D. 

Answer: A

वीडियो उत्तर देखें

Ph − C
∣ ∣

O

− CH2 − CH3

Ph − CH2 − CH
∣

OH

− CH3

Ph − CH
∣

OH

− CH2 − CH3

Ph − CH2 − C
∣ ∣

O

− CH3

17. 

CH3 − C ≡ C − CH2 − CH3

KMnO4 / H ⊕

−−−−−−−→

https://dl.doubtnut.com/l/_NC42VLWtRVsA
https://dl.doubtnut.com/l/_z3iCHDGhc2MW


उत्पाद है :

A.  तथा 

B.  तथा

C.  तथा

D.  तथा 

Answer: C

वीडियो उत्तर देखें

CH3 − C
∣ ∣

O

− CH3 CH3COOH

CH3 − CH2 − CHO

CH3 − COOH

CH3 − CH2 − COOH

CH3COOH

CH3 − C
∣ ∣

O

− CH3 CH3CHO

https://dl.doubtnut.com/l/_z3iCHDGhc2MW


18.  उत्पाद

है :

A. 

B. 

C. 

D. 

Answer: D

वीडियो उत्तर देखें

CH3 − CH2 − C ≡ CH
KMnO4H ⊕

−−−−−−→

CH3 − CH2 − COOH व HCOOH

CH3 − COOH व CH3 − COOH

CH3 − C
∣ ∣

O

− CH3 व CO2

CH3 − CH2 − COOH व CO2

https://dl.doubtnut.com/l/_aCy6oUyXlVQp
https://dl.doubtnut.com/l/_VcWUzvh9spLo


19. 

उत्पाद है :

A. 

B. 

C. 

D. 

Answer: B

वीडियो उत्तर देखें

Ph − C ≡ C − CH3

बेयर अभिकर्मक 
−−−−−−−−−−−→
या OsO4 / NaHSO4

Ph − C
∣ ∣

O

− CH
∣

OH

− CH3

Ph − C
∣ ∣

O

− C
∣ ∣

O

− CH3

Ph − CH
∣

OH

− CH
∣

OH

− CH3

Ph − C
∣ ∣

O

− CH2 − CH3

https://dl.doubtnut.com/l/_VcWUzvh9spLo
https://dl.doubtnut.com/l/_TWAFaBfu2uHZ


20.  उत्पाद है

:

A. 

B. 

C. 

D. 

Answer: A

वीडियो उत्तर देखें

CH3 − C ≡ CH
बेयर  अभिकर्मक 

−−−−−−−−−−−−→
या OSO4 , / NaHSO3

CH3 − C
∣ ∣

O

− CHO

CH2 − CH2 − CHO

CH3 − C
∣ ∣

O

− CH3

CH3 − CH
∣

OH

− CH2
∣

OH

https://dl.doubtnut.com/l/_TWAFaBfu2uHZ



